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SECTION -1

Atternpt any two.

1.  Joy Limited provides you the following information. Prepare profit statements 1.z the
months of February and March using (1) Marginal costing and (2) Absorption costing. 20

Data per unit :

Selling price 240
Diréct material cost 80
Direct labour cost 24
Variable production overheads 16
- Monthly costs :
Fixed prnduct?un overheads 3,96,000
Fixed selling eéxpenses 48,000
Fixed administrativeé expenses 1,12,000

Variable selling costs are 10% of sales revenue and normal production capacity 1s
22,000 units per month :

Months  Sales (Units) Production (Units)
February 20,000 24,000

March 24,000 20,000
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2. (a) *Thﬁ'fﬂllnwing data is given for Apple Company Limited : 10

Particulars Product A Product B
Direct materials T 24 | 14
Direct labour @ ¥ 3 per hour 6 39
Variable overhead @ ¥ 4 per hour X8 X 12
Selling price < 100 110
‘Standard time 2 hrs : 3 hrs

State which product you would recommend to manufacture when :
(1) Labour time is the key factor
(2) Sales value is the key factor

(b) State the meaning and usefulness of linear programming and also state the
assumptions for its use. 10

3. A multi-product company provides the following costs and output data for the last year: 20

. Products

X Y Z
Sales Mix 40% 35% 25%

¢ ¢ (@
Selling Price 20 25 30
Variable cost per unit 10 15 18
Total Fixed Cost < 1,50,000
Total Sales < 5,00,000

The company proposes to replace Product ‘Z’ by Product *S’. If the said change is
done, the producer is expecting following estimated cost and output :

X Y S
Sales Mix 50% 30% 20%
4 < 4
Selling Price 20 25 28
Variable cost per unit 10 15 14
Total Fixed Cost % 1,50,000
Total Sales < 5,00,000

Analyse the proposed change and suggest what decision the company should take.
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4. (a) Explain difference between ‘Traditional Approach’ and ‘Just-in-time’ hppma':ih. 10

(b) Explain in detail the concept of ‘Product Life Cycle Costing’. 10
SECTION-II
5.  Select the correct answer from the given alternatives : (any ten] 10
(1) An export order is generally accepted at

)

3)

“4)
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(a) Below marginal cost

(b) Below fixed cost

(c) Below total cost but above marginal cost
(d) Above total cost

According to marginal costing, selling prices in the short-term are normally fixed
on the basis of

(a) Total cost plus profit (b) Variable cost plus contribution
(c) Total cost plus contribution (d) Below marginal cost

On sales of T 2,00,000, fixed cost is T 30,000 and P/V ratio is 40%. What will be
the profit ? ‘

(8) 12,000 (b) ¥ 1,20,000
(c) 80,000 (d) ? 50,000
An increase in fixed cost results in

(a) Increase inmargin of safety'

(b) - Increase in profit-volume ratio

(c) Increase in Break-even point

(d) Increase in contribution

On break-even chart X-axis represents

(a) Salesin RsI (b) Sales in Units
(¢) Output in Units (d) Any ofthese
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(6) _—____ approach ensures zero inventory.
(a) Just-in-time (b) " Life cycle costing
(c) Target costing (d) ABC analysis

(7) Under _____costis set by changing product design.

(a) Just-in-time (b) Life cycle costing
(c) Target costing (d) Incremental costing
(8) Linear Programming is the technique of for solving business problems.
(a) Operation Research (b) PERT and CPM
(c)b Marginal Costing (d) Cost Accounting

(9) Differential cost deals with
(@) Sunk cost (b) - Relevanteost
(c) Historical cost (d) None of these

(10) Which of the follow...g is not a characteéristic.of relevant cost ?

(a) Ttis futurecost. . (b) Itisecash outflow.
(¢c) It is historical cost. (d) None of these
(11) is important factor in Linear Programming.
(a) Cost (b) Linear Variable
(c) Contsibiition () All of these
(12) The bas-icfdiﬁ'erence between Absorption and Margipal Cost is accounting effect
of |
(a) Factm*f fixed cost (b) Administration fixed cost
(c) Selling fixed cost (q)__ None . .hese
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Qewt -1
A d &L WAL oyl AN,

L e RERS AN R YA R B, At AR SRRl 24 HiRl WA A2 (1) i USeR

A (2) UHIRALYSARAL B ST ASLAL YUSAE) G-, 20
A5HELS (Vi) : 7
QL Exd 240
I ﬂaaumﬂ—[l YelR 80
et HEloAl wseR 24
Ulcid Bt RRE vl 16
HURSYSelR -
' RAR Gewied RAA vl 3,96,000
R A1t vl 48,000
RAR agledl vzl - 1,12,000
UGt Qe vl Al Buor-l 10% Fzelt 824 Ur-d Geuls- UG WIS 22,000
AsAAL S :
R PR Beus R
SRR 20,000 24,000
IRl 24,000 20,000
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2. (2) Auasudl E{m&s-ll DA MR AN S : 10

Rowd AL A gl B
UAEL MG 224 T 14
UedeL AR (sessls T 3) 26 <9
Y[Get wRIEL vl (selsels T 4) Z8 712
QAL Bua %100 T110
UHIOL HHY 2 hrs 3 hrs

Bulsct R U2l 68 At BeutgAl GeueL 52 3 RYIR
(1) ¥R seusl A3y YR S AR
2) Al Bud 3w uRkoin Q1 R
(b) AL AR 2] 24 Gl oy, 24 At Guzilal HiR-ll HRURAL YL oyRUl. 10

3. s HeAl-Mss2 SuAlll WSk 24 Beuttgd 2 o A MR A AR 3pore B 20
Y512
X Y z
QL FiseL 0% 35% 25%
r . U
Qe Bud 20 .25 .30
A5HELS AUlGA YScR (N W
5 [RR useR ' 2 1,50,000
SE R 2 5,00,000

stz S*l czzert YgiaL Z'A usell sl 54R [QARQUAML 8. Burid 4812 SR
2R Al Gewtes IR Hoved YSaR A Beutg-4-ll wiReu M 8.

X Y S
QUeLFEL 50% 30% 20%
< L4 <
QL Bt 20 25 28
25Mgls ARl UscR 10 15 14
S6RER s ¥ 1,50,000
PEERI! 2 5,00,000

BuRlset §R4R Helis-t 53 1A Su-lirl 1R sl Ry ).
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4, (a) “WQuEsLIA ACPRRT 2 ‘orFR AHA o’ (JIT) 2ARPERL 2RAAL dgldd YAl 10
(b) s WS WseR WA Al et [o1d axend). 10
CICTEIR 1|
5. 638 WA HR ANa Rsedniial R ool wrisdl 531 : (L d g 10
(1) (€20 (Ral) 208 urpi-a AQ aedlsd 2 8% &
(a) Uic wserell 1A S
b)) R sl A S
(©)  §a userRell 1A Qi g Abatict wsairell ay
d) sausarel Gur iy
(2) %[lﬁi.ct Wk wgl AUAUR, ZEPUAL HE2 e A A2l B 4l {lQ
U B,
(a) §& USciR il AL (b) ARAMSAR AL 51
(€) S MSCR el 5161 (@ dridwsal{A
(3) A ailugl T 2,00,000 €14, 4, <2 RALT 30,000 249 Agl-o22) IR 40% S, €l
A5l 32Ell w3 ¢
() 12,000 (b) ¥ 1,20,000
(r.;) T 80,000 () 750,000
@) R viaki Rl Wk
@ e uan (b)  Asl-oreaiAL AR ITRHL AR
L&) Wiligui qui d) sl quA)
(5) “WAR AL X-2AYWAS
(@) A3, A (b) RULLASHAI
() GeoweA 253l d) Guuial 51yt
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6) _ vyl et MBI YU R 6.

J2) oz A o (JIT) (b) S SR vgld
() @adusarvgld @ Aol [rans
(7) U Rt . RS ERER 5317 Wscir ALRALSARHL A1 B.
ofa) w3 WA o (JIT) (b) AU USR ugld |
(©) e MsaRvald (@) -dudlusd? wsld
(8) M-l M3 $& s AR aﬁw ARy U B,
48 SRilens AAMA b) 42 ALLAMA,
© Hrid sk wgld @) useRk Rauelluald

(9) csldd WeR Ao WRAS
(a) . sACl usciR AR () AeiBdusaR w
) AldsiRs wser WA @ Guamiell 2y 4R
(10) A-riell sy @aiel oiPd wserd ol ?

(@) el usdr 8. (b) AoMas AsSUAUES.
© - Q ARSIRIE YsR B (d)  Buraell 23U AR
(11) R ARl Hewa uRin 8.
(@) WR () W5 ual
(¢) . 510 (d) GurelL Loy
(12) a4l 247 Abiid wsaR wglddi Haed dgiad -l [Rutoll 2ARAL 8.
£2) SR RR v () 4ladl RRR vl
©) AW RRR v @ Guraiiell 2AsuQL AR
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